Here to help you..the Distance Formula.
The distance formula finds the distance between two points on a coordinate grid. Given the
points: (x1, y1) and (x2, yz ) the distance can be found by using this nice formula (basically
the Pythagorean Theorem):

D = /(ax)? + (4y)?
D =/(x; — %)%+ (y5 — y1)?

Example: Distance between (10, 2) and (3, -4).
D =,/(3—10)2+(—4 — 2)2
D =(=7)*+(-6)?

Be careful, what

happens when we
ive?
_Square a hegative:

b= 56 Keep in
D = /85 P
D ~ 922 parentheses!

You may also use the Pythagorean Theorem if you know how to use it. Use wisely! Think about what
Ax and Ay are in terms of the legs of the right triangle!

Pythagorean thm.: a? + b? = ¢?
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points: (x1, y1) and (x2, yz ) the distance can be found by using this nice formula (basically
the Pythagorean Theorem):

D = \/(&x)? + (Ay)?
D =/(x; — x1)2+(y5 — y1)?

Example: Distance between (10, 2) and (3, -4).
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